Equations trigonom triques - Exercices

R soudre dans R

° \/2_cos(2x)+1=0

cos(2x) = — % — cos(2x)= (:05(34—7r
2x=Z 12k (1) x=2Liknr (1)
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3x = 3n
2x=—-""+2knm (2) x=—-==+kn (2)

3
8

AAAAAAAA

e 2sin2x)+ /3 =0

sin(2x)=—325 = sm(zpc):—lzE

sin(2x) = sin(— 73L)

2x=—’51+2kn (1) x=—76l+/en (1)
—
2x=43—7r+2k7r ) x=25—ﬂ+/e7r )

. tg(2x+73i)+\/?:0

tg(73l+ Zx) =-3 = tg(§+ Zx) =tg(—73l)

Lidx=-Tikr = x=-L4+* gcz)
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® cos(x) =sin(2x)

cos(x) = cos(;l -2 x)

{x:§2x+2k7r 1) o=

=
x=2x—721+2k7r 2 x=

AS

e 2cos’(x)—1=0
x="4pl

® 3cos(2x)—2=0
cos(2x) = 2

{ 2x=0.841069 + 2k
2x=0.841069 + 2k

{ x=0.420534 +km
x=-0.420534+kr
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o g3x)-4=0

tg(3x) = tg(1.32582)
3x==1.32582 +kx
x = 0.441939 + k ’31
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